BNTEI (53R Z4T) [ onm& [ 70000
THAER
W
B
Wi
4-Sx¢
a iy
SRR 7D N
L i
(MAY) & Jr '
L N s
(G:hi=E7W)
PE2 AR 52 MEk | AEAE | HLfT EAREEST T R
/Aﬁ;g&% 9|‘ ?:z: ':F'L‘E?é & Ca Coa K
d Ph dp do Bl X kN KN N/pm
BNT 1404-3. 6 14 4 14.4 1.5 | 1x3.65 | 6.8 12,6 190
BNT 1405-2. 6 14 5 14.5 1.2 | 1x2.65 | 7.2 12.6 150
BNT 1605-2. 6 16 5 16.75 13.5 | 1x2.65 | 7.8 14.7 170
BNT 1808-3. 6 18 8 19.3 14.4 | 1x3.65 | 18.2 34.4 270
BNT 2005-2. 6 20 5 20.5 17.2 | 1x2.65 | 8.7 18.3 200
BNT 2010-2. 6 20 10 21.25 16.4 | 1%X2.65 | 14.7 27.8 220
BNT 2505-2. 6 25 5 25.5 2.2 | 1x2.65 | 9.6 23 240
BNT 2510-5. 3 25 10 26.8 202 | 2x2.65 | 43.4 92.8 520
BNT 2806-2. 6 28 6 28.5 25.2 | 1x2.65 | 10.1 25.8 270
BNT 2806-5.3 28 6 28.5 25.2 | 2x2.65 | 18.3 51.6 510
BNT 3210-2.6 32 10 33.75 272 | 1x2.65 | 27.3 59.5 330
BNT 3210-5.3 32 10 33.75 27.2 | 2x2.65 | 49.6 118.9 640
BNT 3610-2. 6 36 10 37 30.5 | 1x2.65 | 28.7 65.6 360
BNT 3610-5.3 36 10 37 30.5 | 2x2.65 | 52.1 131.2 700
BNT 4512-5.3 45 12 46.5 39.2 | 2x2.65 | 68.1 186.7 860
15-260 =1 e https://tech.thk.com




L1

C
DN HIEI ij
#dp < e \ ‘ ‘7 % dc|g d
N\
N1
B mm

BERT LiTHE | B8 | W | FiF

BEE | il | 2 eS8 BT | RMETIRE/mm | RE | RE | R
w F L B 4 SX¢ W | T M| N N A kg *m*/mm kg kg/m | min”
34 13 35 | 26 | 22 M4 X7 17 6 30 6 2 M6 2.96X10° 0.15 | 0.93 | 4860
34 13 35 | 26 | 22 M4 X7 17 6 31 6 2 M6 2.96X10° 0.15 | 0.92 | 4820
42 16 36 | 32 | 22 M5X 8 21 |21.5|32.5| 6 2 M6 5.05X10°® 0.3 1.24 | 4170
48 | 17 | 56 | 35 [ 35 | M6x10 |24 [ 10 | 44 | 8 | 3 M6 8.09%10° | 0.47 | 1.46 | 3620
48 | 17 | 35 |35 [ 22 [ mex10 |24 | 9 [ 39| 5 | 3 M6 1.23X107 | 0.28 | 2.06 | 3410
48 18 58 | 35 | 35 | M6X10 | 24 9 46 | 10 2 M6 1.23X107 0.5 1.99 | 3290
60 20 35 | 40 [ 22 | M8X12 | 30 | 9.5 45 7 5 M6 3.01X107 0.41 | 3.35 | 2740
60 23 94 | 40 [ 60 | M8X12 | 30 | 10 | 55 | 10 | — M6 3.01X107 1.18 | 2.79 | 2610
60 22 42 | 40 | 18 | M8X12 | 30 | 10 | 50 8 — M6 4.74X107 0.81 | 4.42 | 2450
60 | 22 | 67 | 40 | 40 | M8Xx12 [ 30 |10 |50 | 8 | — | M6 4.74X107 | 0.78 | 4.42 | 2450
70 26 64 | 50 | 45 | M8X12 | 35 | 12 | 62 | 10 | — M6 8.08X107 1.3 4.98 | 2070
70 26 94 | 50 [ 60 | M8X12 | 35 | 12 | 62 | 10 | — M6 8.08X107 2 4.98 | 2070
86 29 64 | 60 | 45 |MIOX16| 43 | 17 | 67 | 11 | — M6 1.29X10°¢ 1.8 6.54 | 1890
86 29 96 | 60 | 60 |MIOX16| 43 | 17 | 67 | 11 | — M6 1.29X10°¢ 2.4 6.54 | 1890
100 | 36 | 115 | 75 | 75 [M12X20 | 50 |20.5| 80 | 13 | — Mé 3.16X10° 4.1 10.56 | 1500

) REZEB RN, B KRS8 FBAF1ES RE15-390.

KT AMBESHMN, ESREN15-262.

EZEE=>015-379

TR 15-261





